N = 0l & At & Ml A

20198 & =04k LBHSIHLJIEFSE A NSt
2AMd: DS
M DsHE A
Sl HEDSAEIA B CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ws 29,869,786 22,581,363 7,288,423
= 2,349,497
s 7,540,000
J| 3,809,000
N 150,000
= 16,021,289
nsHEH A 26,575,239 19,174,432 7,400,807
= 1,389,497
s 6,300,000
J| 3,809,000
< 15,076,742
s MUl A &at 15,068,364 7,941,922 7,126,442
= 895,747
s 6,300,000
J| 3,809,000
< 4,063,617
sws AMHIA e 392,660 124,922 267,738
202 44l 35,000 53,422 A 18,422
01 = LH Yl 35,000 53,422 AN 18,422
olizweEs 28 « XNFHUAY X &0 23,000
O & SIEXNSI 2=AME N 12,000
207 RO 20,000 53,000 233,000
02 & AR I 20,000 0 20,000
O2+=SALA HE S& SHOIX M= 20,000
403 UHXISHHSA=0l& 337,660 15,000 322,660
01 X EHMA=E L 337,660 15,000 322,660
OABXSIEHDE SFMHL 187,660
O=Al ZE&EH XX 160,000
HAaHA TAEEX(=2D) 366,552 960,000 A 593,448
= 229,095
< 137,457
403 XIS E X201 & 366,552 960,000 A 593,448
= 229,095
< 137,457
01 X SHHX2E= 366,552 960,000 A 593,448
OM&aHA EEx 366,552
= 229,095
< 137,457
SgusEsH TUEE (1) 189,000 240,000 A51,000
= 126,000
S 63,000
403 UHXSHHSA=0l& 189,000 240,000 251,000
= 126,000
< 63,000




2N RED
M DsHE A
el s nsSMHIA & (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HXSHMA2E X 189,000 240,000 A51,000
OSguss¢ &g 189,000
= 126,000
< 63,000
=38 YAl N (=21) 525,000 525,000 0
ras 350,000
< 175,000
308 XXIEHH SOl A 525,000 525,000 0
as 350,000
< 175,000
01 AXHHILEES 525,000 525,000 0
OsHEXY 5 LEA| 525,000
) 350,000
S 175,000
BAIZR XA (=1) 234,000 156,000 78,000
=2 234,000
308 XX EHH SOl A 234,000 156,000 78,000
= 234,000
01 HXNHHBHEES 234,000 156,000 78,000
OHAIZX K& 234,000
= 234,000
2 YBISKIE (21) 220,500 390,000 A 169,500
= 126,000
< 94,500
403 XSS A=0l& 220,500 390,000 A 169,500
= 126,000
= 94,500
01 XM A=2E X 220,500 390,000 A 169,500
29 BIS N& 220,500
2 126,000
< 94,500
BAIRE Hexrz XA 226,000 226,000 0
308 XXM SOIA 226,000 226,000 0
01 AXHHBIYEES 226,000 226,000 0
OHANRS ItE=2 & 226,000
SEE nsE24d(=21) 825,000 825,000 0
s 550,000
< 275,000
308 MtXIEHSOIH 825,000 825,000 0
s 550,000
< 275,000
01 HXNHHNBHELS 825,000 825,000 0
O=sUHEXY 5| LELA| 825,000
as 550,000




2N DED
M DsHE A
el s nsSMHIA & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| == 275,000
2 Sgnsst 22 XA (21) 3,809,000 4,025,000 A 216,000
J| 3,809,000
201 £B-2d| 17,000 8,400 8,600
J| 17,000
01 At 22l 5,000 0 5,000
OSgusEst 2 (UM MH S) 5,000
J| 5,000
02 2324l 12,000 8,400 3,600
OZA0IsSANJHE S4H & EHAES 12,000
J| 12,000
307 2Iztol ™ 740,172 545,600 194,572
J| 740,172
05 BIZHRI & 3 740,172 545,600 194,572
OZY0ISANAEEH RAE2EHI 740,172
J| 740,172
308 XXM SOl A 3,051,828 3,471,000 A419,172
Jl 3,051,828
01 IXNHHBNEES 3,051,828 3,471,000 A419,172
OSgus=t 29 N& 3,051,828
J| 3,051,828
SANENEZE(SSE HA)(=1) 3,150,000 0 3,150,000
s 2,100,000
< 1,050,000
308 XtXIEHH SOl A 3,150,000 0 3,150,000
s 2,100,000
< 1,050,000
01 AXHHILEES 3,150,000 0 3,150,000
OZANE WERLE (B3 HA) 3,150,000
s 2,100,000
< 1,050,000
SEE NS (B3 HA)(=21) 4,950,000 0 4,950,000
s 3,300,000
< 1,650,000
308 X EHSOIA 4,950,000 0 4,950,000
s 3,300,000
< 1,650,000
01 HIXNHHNBMNEES 4,950,000 0 4,950,000
O=Z8 nE2d (338 HA) 4,950,000
s 3,300,000
< 1,650,000
20198 & O M otAlEHOIY At (=1) 13,842 0 13,842
= 13,842
403 MtXISHH S0l & 13,842 0 13,842




5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 13,842
01 XM A2E X 13,842 0 13,842
O20199 & M otAEHDOIY Ar(=12) 13,842
= 13,842
HAXt SBAISZ ZASH(21) 166,810 0 166,810
= 166,810
308 XX EHHSOIA 166,810 0 166,810
= 166,810
01 AXHHILEES 166,810 0 166,810
OHM4Xt HAISE ZAMEH 166,810
= 166,810
HEsws MHE X2 10,520,000 10,220,000 300,000
22X HEEH 4,400,000 4,400,000 0
307 21201 A 4,400,000 4,400,000 0
09 2HAHAEXS 4,400,000 4,400,000 0
OAMABHAZ2EAY THE XA 4,400,000
2S5 MEBXA 4,900,000 4,900,000 0
308 AHAIEHHSOIA 4,900,000 4,900,000 0
01 HIXNHHBMNEELS 4,900,000 4,900,000 0
OAU, sHEHA 28AMY HEXA 4,900,000
B B4 600,000 600,000 0
308 XXM SO0l A 600,000 600,000 0
01 IXNHHMBNEES 600,000 600,000 0
OHIL-d &Y 600,000
AUEM SEHAXE 270,000 270,000 0
308 XtXIELH SOl A 270,000 270,000 0
01 XML EES 270,000 270,000 0
O2XRNEMN S2EHA XA 270,000
HASSAMELN BE=XN24 HESES 50,000 50,000 0
207 S 51 OH £ Hl 50,000 50,000 0
01 2284 50,000 50,000 0
OHASSAMNEN 3E=XEH ZSEY 50,000
HA 2EMETN 2SN 2HAAAE 2 2= 300,000 0 300,000
207 A O] 300,000 0 300,000
02 & AHIH I 300,000 0 300,000
OHASSAMHA 3SEx=X 24 AIAH =
g 4 L4 dis 300,000
s - =FNY =4 12,000 12,000 0
nE - SFLY 243 =0 12,000 12,000 0




2H: DED
Ha: DEHH N
o9 NS BRAY 84

SN FH-SA(EN) - MBAY - BES & HlnE2
201 ¢er24| 12,000 12,000 0
01 At 22l 12,000 12,000 0

O%ds 23 ¥ =9 N2 12,000
WSALD =Z0[I] AIEFX 974,875 1,000,510 A 25,635

= 493,750

=) 481,125

WEAD Z01I] A XA 333,000 230,000 103,000
201 Let24E] 18,000 15,600 2,400
01 At 22l 10,000 10,000 0

OUSAID Y =8 10,000
03 AH2 S HI 8,000 5,600 2,400
O2x=SALA HE2H HER=S 8,000
301 et d = 35,000 29,400 5,600
09 HAAHIE& S 35,000 29,400 5,600
O2+3AA A2 HEWUS HHEY 35,000
307 21201 A 50,000 25,000 25,000
02 QB AANHFEX 50,000 25,000 25,000
Ousetd 232 dN 50,000
308 AHAEHHSOIA 210,000 160,000 50,000
1037/ 2S0HUHSEHEAE ALS HI 210,000 160,000 50,000
O AAN NECHH BxN= 200,000
OusSetd HdAsH P& HA2HE 10,000
403 A X EHHS =0l A 20,000 0 20,000
01 X SHHX2E = 20,000 0 20,000
DHRETNAES JIsEZ X 20,000
20/ DEX & EX(=1) 442,000 559,260 A 117,260
= 340,000
< 102,000
403 UHXSHHSA=0l& 442,000 559,260 A 117,260
= 340,000
< 102,000
01 HIXSHMA2E X 442,000 559,260 A 117,260
OMYE XtE XIZO0IEZNEI HF EX 442,000
= 340,000
< 102,000
HAXNSHSEX X XA (=21) 199,875 211,250 A 11,375
= 153,750
< 46,125
403 MtXISHHE A0l & 199,875 211,250 A 11,375
153,750

SRl

46,125




2AMd: DS
M DsHE A
Sel: DEAD 00| AMEZ CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 199,875 211,250 A 11,375
OAEE XY HI&NSHSEX X X 199,875
= 153,750
< 46,125
WSHEEA A 3,255,000 752,000 2,503,000
= 960,000
s 1,240,000
S 150,000
< 905,000
WSeHEANLE &= 3,255,000 752,000 2,503,000
= 960,000
s 1,240,000
EN 150,000
< 905,000
WEUTAE 2= & FHUAEY 335,000 290,000 45,000
EN 150,000
< 185,000
403 XSS A0l & 335,000 290,000 45,000
N 150,000
< 185,000
01 XM A=2EE 335,000 290,000 45,000
COULSCHEANE 2= 150,000
N 150,000
O0eol Es79Y &M 50,000
ooy XA X 50,000
OALE 8H=2& &1 85,000
HEloIES RS MHEaAME(Z)(=2) 1,320,000 214,000 1,106,000
s 660,000
S 660,000
401 Al HIZ 201 I 1,320,000 214,000 1,106,000
s 660,000
< 660,000
01 A& HI 1,320,000 214,000 1,106,000
OAMEISAL & 22X ¢ 1,320,000
s 660,000
< 660,000
ORI0I2S TS HEAY (AZ)(2D) 480,000 248,000 232,000
s 480,000
403 Mt S S X201 & 480,000 248,000 232,000
as 480,000
01 AXSHMA=2EE 480,000 248,000 232,000
OAl - 2 HEl0IES Y e 480,000
s 480,000
XNXH TS 25 XA (=1) 960,000 0 960,000
= 960,000




2AMd: DS
MM DEMSA A
& NSAHHAE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 960,000 0 960,000
= 960,000
01 HXHMA=LE X 960,000 0 960,000
OXXH ITS 25 XN 960,000
= 960,000
LoEs Y HEAGE(Z)(=21) 120,000 0 120,000
ras 60,000
< 60,000
401 Al HIZ 2018 120,000 0 120,000
as 60,000
< 60,000
01 A& HI 120,000 0 120,000
LOoES A9 M 120,000
s 60,000
< 60,000
LolEs2Y MWEAE (AZ)(=12) 40,000 0 40,000
s 40,000
403 A X EHS =0l A 40,000 0 40,000
s 40,000
01 X EHHMA=LE L 40,000 0 40,000
LoES A9 e 40,000
s 40,000
HY2FZH (LS ) 39,547 36,878 2,669
Jl=&l 39,547 32,002 7,545
EM2E Jl=Z 39,547 32,002 7,545
201 Let249] 25,747 20,602 5,145
01 At 22/l 25,747 20,602 5,145
ORMEY AtR2eltl 25,747
202 Od4dl 10,200 8,400 1,800
01 = LH o4 4l 10,200 8,400 1,800
fAEY ol 10,200
203 YR =2l 3,600 3,000 600
04 EA2IYRFEH 3,600 3,000 600
©202! Ol ot 3,600




